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change of response by scratching or using white fiuid, you will render yourself liable to disqualification.

. You have to return the originai OMR Answer Sheet to the invigilator al the end of the examination compulsorily and must not carry it
with you outside the Examination Hall. You are however, allowed to carry original question bocklet and duplicate copy of OMR Answer
Sheet on conclusion of examination.

. Use only Blue/Black Ball poini pen.
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. There shall be no negative marking.

. In case of any discrepancy in the English and Gujarati versions of guestions, English version will be taken as final.
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PHILOSOPHY
Paper i

1. Which of the following is not a state
of consciousness according to the

Upanishads 7
(A) Waking

(B) Dreaming
{C) Sound sleep

(D) Desiring

2. Deep Sleep (susupti) corresponds to
(A) Ishvara
(B) Brahman
(C) World

(D) Maya

3. “Consciousness arises from matter, like
the intoxicating quality of wine arising
from fermented yeast.” This is the sutra
of which of the following philosophical
systems ?

(A) Nyaya-Vaisheshika
(B) Charvaka
(C) Samkhya-Yoga

(D) Mimamsa

1. GURUE Btogir ol Aoumidl 58

Ncotiell wazal ool ?

(A) et
(B) Rcliol
(©) Yy
(D) 5495
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4.

In Jainism, ‘relatively speaking’ is
(A) Syadasti

(B) Syat

(C) Paryaya

(D) Naya

- Which of the following is not true in the

context of Jaina anekantavada ?

(A) Itis a realistic and relativistic

pluralism

(B) There are innumerabie material
atoms and innumerable souls
which are all separately and

individually real
(C) Human knowledge is infinite and
absolute

(D) Human knowiedge is necessarily

relative and limited

- Which of the following is a corollary

of the Buddhist theory of Dependent
Origination ?

(A) Theory of Momentariness

(B) Syadvada

(C) Charvaka Materialism

(D) Asatkaryavada

4. %ot edetntl ‘u g A ey’ Aeq,

(A) RuE U
(B) e

(C) waly

(D) ot

. Fot UASledl et ATl ol Aotntial]

53 U ol2f] 7

(A) A cAirAl@s ua 0N wAs
ceclclle B,

(B) iels olllds wQal wa uaAs

UHIA 2 A R UEAL
AQ ad@s B,

(C) HIBlMe] sllet Aoid wa
UR(AS B.

(D) R stiot wlAcu] A
CIRERTE R (Y

- ol edlototl ycllimyauteatgott

URQuazu oA Aounmisll 9 & 2

(A) &L e{oteue

(B) ugale
(C) walssll elldscue

(D) uustelale
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7.

10.

The Satkaryavada of Sankhya is a
form of

(A) Shunyavada
(B) Parinamavada
(C) Vivartavada
(D) Arambhavada

. According to the Yoga system, which

of the following is knowledge of
rope-snake ?

(A) Perception (pratyaksha)

(B) Viparyaya (positive wrong knowledge)
(C) Vikalpa (verbal cognition)

(D) Nidra (sleep)

. According to the Nyaya system,

“ice looks cold,” is an example of
(A) Samanyalakshana perception
(B) Yogaja

(C) Anumana

(D) Jnanalakshana perception

According to the Vaisheshika, which of
the elements, is not atomic 7

(A) Earth
(B) Water
(C) Akasha
(D) Air

7.

10.

alvalell Yestlale o 3U B.

(A) YoRAE
(B) ulRRuMcue

(C) Qacdae
(D) HRAAUE

. AL slet BiojULR Roy-ud’ B

ot Actimtioll sl Ysie] silet & ?

(A) yeugl
(B) [Qua

(€) @seu
(D) (st

. cltaug ol AR U ESL TuuA B

___ o BelgRw B.

(A) UHLRAAKG YAH
(B) 2ot

(C) WogHtiel

(D) SUoLCABIL YU

AR iR ol Aatiriedl Aot
wRll ol ?

(A yedl

(B) %0

(C) vlsta

(D) «

IR =
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11. When error is an act of omission only,

12.

13.

14.

itis

(A) Vivekakhyati
(B) Anyathakhyati
(C) Vipritkhyati
(D) Akhyati

Svatahpramanyavada is related to

which of the following ?
(A) Charvaka
(B) Sankhya
(C) Mimamsa

(D} Nyaya

Avarana and viksepa are the

functions of
(A) Maya
(B) Karma
(C) World
(D) Jiva

Sadasadvilakshana is

(A) Absolutely real

(B) Absolutely false

(C) With ali good qualities

(D) Neither real nor unreal

1.

12.

13.

14.

AR GHHL AWeUAHA D,
a B,

(A) [QasvauQ
B) wavaul

(C) QuBvaulq

(D) vl

ol Astinisfl Slat 2ect: yiRIaLE
wWllsty ® 2

(A) s

(B) vy

(C) i (yd)

(D) ALY

UCRERL UA @AY A Slaii
sl B ?

(A) 1L

(B) s

(C) o

(D) v

UevuelQaawe Req
(A) 2yl (cwetlds) ud
(B) ysl mad

(C) - get o

(D) A Ul o, vU| U B
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15.

16.

17.

According to Ramanuija, the relation of
inner inseparability between the soul
and the body is

(A) Anirvachaniya

(B) Samadhi

(C) Aprthaksiddhi

(D) Karyakaranavada

According to Ramanuija, to define

avidya as indefinable, is the fallacy
called

(A) Anirvachaniyatvanupapatti
(B) Svarupanupapatti

(C) Anyathakhyati

(D) Vipritkhyati

The Mahavakya ‘Tatvamasi’, elucidates

the relationship between
(A) God and World
{B) God and Brahman

(C) Atman and World

(D) Atman and Brahman

15.

16.

17.

Moo Bl WAL U AR
wWiciRs Blstelal 55 8.

(A) vdudlla
@) W@
(C) wyusRE

(D) stdslRelale

AHLef%s lojir w(dellal vl vaRd
A3 catvU@d sl dSEln

aa 9.
(A) R dusllacisguu@

(B) 3utojuul

(C) ueauvaufd

(D) RQuBavauld

‘et 1@ Holalst ol 2Aell
Aoy W 53 B,

(A) S Wl %

(B) 82 vl Wdl

(C) UL Wl %3l

(D) ML U U6l
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18.

19.

20.

21.

The formula neti-neti signifies, that
(A) Brahman is describable

(B) Brahman is fallible

(C) Brahman is indescribabie

(D) Brahman is unreal

According to the Nyaya system, the
fallacy of the contradictory middle is

called

(A) Viruddha

(B) Satpratipaksha

(C) Anirvachaniyakhyati
(D) Asiddha

The path of Ashtanga Yoga recommends
(A) Suppression of the senses

(B) Killing desires

(C) Sensual attachment

(D) Control over body, senses and

mind

According to St. Thomas, the concept
of God and trinity can be revealed by

(A) Faith

(B) Reason
(C) Arguments
(D) Belief

18.

19.

20.

21.

A A of 3u A egald B,
(A} wéls] aglet sist B

(B) ¢l w2 &

(C) o8l wadella B

(D) 8l uUUd B

cAAE 2ot UoAR ofl ottniell
s ElY cAlUlctol AAA B ?

(A) Qs

(B) uculQual

(C) ufdusllavay@
D) wR«

WL Aol Wl yud 8,
(A) Bledelle] €Hot

(B) Susiullet el

(C) 8l YA cdug

(D) 2R, 8l ual Mot GURail
510

Hel HY WAUR U uUA RRAA
vl sl GlolR sl B,

(A) stal

(B)

(€) eclla

(D) HicUdll

I
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22.

23.

24.

Aristotle maintains that

(A) Form is logically different from matter
(B) Matter and form are inseparabie
(C) Form is only reat

(D) Matter is only real

Why did George Berkeley refute

abstract ideas ?

(A) The mind can only produce

abstract ideas

(B) The mind is incapable of framing

abstract ideas

(C) The mind cannot individuate simple

ideas from general ideas

(D) Abstract ideas are framed by God

According to Kant, knowledge is

possible only on the basis of

(A) the union of sensibility and

understanding

(B) the union of sensibility and

categories
(C) the union of space and time

(D) the union of space, time and

22.

23.

24.

ARl WojulR,
(A) U s dad scudl @ B.

(B) U ulal acl wfdeuw2 8
(C) A 3U celds B.

(D) HA acl cllixilds &

o2 sEAB wcl (AARle]
viset s M2 59 ?

(A) Mot i [QuRla At
Geuzt 53 ¥ 8.

(B) Hot vyl [ e sal
e a8l

(C) Mot UEL [RARA A AHL
R yus s asd o2l

(D) uyd QA suR sl A 8.

§log ViojULR oll BUUR UR
sllel o5y 8.

(A) Bt Yl ol UHAQe
d2wet

(B) slnal ycugt wa 32013leil
Aot

(C) UG Aa sleiell Aol

(D) WA, s el B2oldlet
dalogat

categories
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25.

27.

Force as the essence of body is

justified on the ground of
(A) Principle of individuality
(B) Principle of Harmony
(C) Principle of Continuity

(D) Principle of pre-established

Harmony

According to John Locke, the idea of

received through both

sensation and reflection.
(A) Taste

(B) Solidity

(C) Unity

(D) Rest

Who among the followings maintained
that substance must be negativaly
described i.e., “Every determination

is negation” ?

(A) Thomas Hobbes

(B) Benedict Spinoza

(C) Rene Descartes

(D) David Hume

25.

26.

27.

ARell &€ dfly win
alwell 52 B,

(A) calaceldion Rglid

A BUULR

(B) dlwtolt Rgic
(C) Ucictall Rgid

(D) ydreufd Aol Rgic

dlot Als AR ol QR

lodalyctet el ofl stz aus0l
w2 8,

(A) UE
(B) ois52lt
(C) Asclt

(D) R&ARcu

ol Astiatiell N WA D ¥ qcua
(ARus AA aglcll asle. ®u 3

“Every Determination is Negation” ?

(A) slHy Slou
(B) AaAl3se RO
(C) 2 3518

D) 3as gn
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28.

29.

30.

According to Spinoza, a substance

must be defined in terms of

(A) Essential attributes

(B) Accidental attributes

(C) Both essential and accidental
attributes

(D) Subjective perception of the reality

What does methodoiogical skepticism
signify ?

(A) Knowledge is truth

(B) Everything is dubitable

(C) Nothing is dubitable

{D) Doubt can be used as an epistemic
method

Considering the mind and the body are
two independent substances, Rene
Descartes further maintains regarding

voluntary actions, that

(A) The mind is causally connected to
the body

(B) Only the body interacts with the
mind

(C) The mind occasionally interacts

with the body

(D) The body is causally connected to

the mind

28.

29.

30.

RUANL UeUIR gl ___ &R
v 531 austal,

(A) Hog casl

(B) yusAs el

(C) Hngicl wal BsRAS AL

(D) ¥d ceeclo] caulxictell ycuellswel

uglotel sistale g YU B ?

(A) silol A U B

(B) vy % stiaicliel B

(C) 59 % sttalclot

(D) st stetllHiasla ugld <33
ausl ast

Hotl ula 23l2a 1 ac2ll {lsidla,

3518 AscU ldidlell ddet vidl
Hiat B %,

(A) et A AR WA stEdseell
Ad Asoudg B

(B) Mot 232 A Mot W& itz
5 8

(C) Mot gURs AR WA id(5a
52 B

(D) 22 A 1ot wd sal-skyell
A Asndg B
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31.

32.

33.

The cause and effect relation, as

David Hume argues, is based on

(A) Reasoning concerning matters

of fact
(B) A-priori reasoning
(C) Reasoning concerning innate ideas

(D) Indubitable reasoning

‘All ideas are copies of impression’ —

advocates

(A) John Locke

(B) David Hume

(C) Benedict Spinoza
{D) Bertrand Russeli

Which of the following is not a

Purushartha ?
(A) Artha

(B) Moksha
(C) Samsara

(D) Dharma

. Sreyas and preyas refer to

(A) The desirable and the desired
(B) The likeable and the disliked
(C) The greater and smatler

(D) The good and the evil

31.

32.

33.

34.

3As guoll ecla wagur?, si-siul

doly u? R 8.
(A) atecdlds sflscleu (a2

(B) ojotcl [R20&t [QuR
(C) wotioict Qe QuR
(D) waloy Qu

‘A [ slayigel viu D
BUH SleL HA & ?
(A) ¥8lot As

(B) 3[As gu
(C) Q352 R0l
(D) w2les A

ol Aountiell 53 yue otefl 2

(A) wdl
(B) Hlat
(C) duR
(D) wi

AAY el QAU w1 B,
(A) Swai-aol a SR

(B) waeollaty) sl ott-urie

(C) Hslol el [liet

(D) A& Ul vilAwe
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35.

36.

37.

38.

Varna system is based on

(A) Likes and dislikes

(B) The theory of karma

(C) The theory of nishkama karma

(D) Guna and karma

The inviotable cosmic order is
(A) ma

(B) rta

(C) guna

(D) nirvana

The path of Ashtanga yoga is called

(A) Middle path
(B) Path of renunciation
(C) Path of indulgence

(D) Dependent Origination

The progress of dharma implies

(A) The progress of religion

(B) The progress of man towards
divine perfection

(C) The progress of religious rituals

(D) The increase in the number of

religious sects

35.

36.

37.

38.

aul-caleral _ uR aklRd 8.
(A) URE e oll-UAE

B) st Relct

(€) GlsiH siat Rgid

(D) 28l ua 54

YRoll vun 2l s 8.
(A) el

(B)

(C) 24l

(D) [aial

AUeiol AL A g sdaHl WA D
(A} Heam wal
(B) gl 1ol

(©) ygf ol
(D) yldcruycuie

‘O ol @stucl w8,

(A) wi (Religion) ol (Astx

(B) Hofralell (caleltoll yulett uldell

CETE
(C) wils ssisell Qs

(D) dyetalol dvay arudl
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39.

41.

42,

Which of the following values is not

accepted by the Charvakas ?
(A) Artha

(B) Kama

(C) Food

(D) Dharma

. Karuna and Maitri are ethical

principles of
(A) Charvakas
(B) Buddhism
(C) Islam

(D) Jainism

According to Mimamsa, the unseen

potency of actions is

(A) Dharma

(B) Adharma

(C) Apurva

(D} Jnana

Lokasangraha is

(A) Work for the benefit of humanity
(B) To accumulate wealth for society
(C) To collect people

(D) To distribute wealth equally in

society

39.

40.

41.

42,

A8 gl ol Asuniell 53 Yot ellge
@l ?

(A) wy
(B) sid

(C) eloget
(D) w

53R el H{l A ol Aot il Slott
JAlds Rgidl & 2

(A) waist

(B) ollgteslot

(C) st
(D) %ol £9lal

i wogrn? sl vgga i
8.

(A ud
(B) wud
(C) 2yd
(D) suet

cllséole A __ A B,
(A) clsscaurl MR sy 52q
(B) 1w M2 et AsAd 54

(C) cAlslal AsA sl

(D) AHIHL ot AULet [AcdRel
$q
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43. Immanuel Kant while advocating moral | 43. 81Heud Sl BafAR cAclRSe]

quality of an action is determined by Alds wyj el (ulRet s 8.

(A) Good will (A) Y& w9t

(B) Consequence (B) uleun

(C) Means (C) Aluel

(D) Emotion (D) cowll

44. What does ‘Duty for the duty’s sake’ 44, ‘sccalal bllct? SclcA’ g

YAA D ?

suggest ?

(A) Autonomy of the Will (A) Sustell audL

(B) Autonomy of the God (B) Su20{l alaictat

(C) Autonomy of the State (C) =iwell 2etiadcicll

(D) Autonomy of the Institution (D) dict: 2gRQusll 2allttcll

45. Bishop Butler maintains that conscience | 45. (Aalu o2ct? Aejli’ Hotclla ysldsdl

is the highest principle of human nature. GuctH Rgict Actotl B, 2 dedl

HeERell i
State which of the ethical theory Butler Alds Reict ___ 8.

subscribes to

(A) Hedonism (A) Yuiale

(B) Altruism (B) WRlUSRAE

(C) Intuitionism (C) icl: ¥{AUAE
(D) Super Humanism (D) GRudH HldldclE
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46.

47.

In J. S. Mill's altruistic utilitarianism
is included.

(A) Sympathy

(B) Courage

{C) Pain or suffering

(D) God

What does Bentham maintain while

advocating psychological hedonism ?
(A) Surplus of pleasure over pain

(B) Pleasure cannot be guantitatively

measured
(C) Pleasure for general happiness

(D) Pleasures are qualitatively different

. Which theory of punishment believes in

inflicting pain on the offender as mode

of punishment ?

(A) Reformative theory of punishment
(B) Deterrent theory of punishment
(C) Retributive theory of punishment

(D) Educative theory of punishment

46.

47.

%. WA, Mot wreell Guaiolldiane i
ofl AHIAY &,

(A) uatefeyd
(B) (8
(C) g usaL Alclall

(D) 2R

Holldstlas Yuicleal @ 52l
QollH g WA & ?

(A} £ scll YwHl atuRl adl.

(B) Yuloll dvaulcHs delell s
atefl.

(C) ML dlole W2 Yul &l

(D) 243UHs A yu [@=t B.

- Atell 5 Rgict HA B ¥,

oJalollRal U%leoll BN Erul

uglAsq ASA ?

(A) Axtell yuzeueell Reid
(B) wstoll vicRucel Rgid
(C) uwall uldstaell Raid

(D) ustell @Qacall Rgid
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49,

50.

51.

In which form of punishment there is no
chance to reform the offender ?

(A) Retributive theory
(B) Capital punishment
(C) Reformative theory

(D) Forgiveness as a theory of

punishment

According to egoistic hedonism

(A) The moral standard is the individual's

own pleasure
(B) The moral standard is pleasure of all

(C) The pleasure of few is the moral

standard

(D) Pleasure is not the moral standard

Who among the following advocates

Rational Utilitarianism ?
(A) Jermy Bentham
(B) Henry Sidgwick
(C) Immanuel Kant

(D) Herbert Spencer

49.

50.

51.

A%loll SAL USIRHL OfaldltRetl Yulrell
s aaues ol ?

(A) ulsiRedll Rala
(B) sialloll uat
(©) yureudel Reid

(D) uololl Rglc > 1usl

wéctell Yuale vojulR,

(A) Alds HUESL R cuSaletl Wl
Yu 8,

(B) olldls MUES| vcle] YW B.
(€) ollds WUES Becuse] Yu B.

(D) Yyw A alds wues «ell.

ol Aouniell slat offalel
GuABLLa Elotl Yrsdl © ?

(A) S| Al

(B) 313l Ras
(C) YU Blod
(D) sule ¥R
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52.

53.

54.

‘Thou shall not kill' implies

(A) Respect for Freedom
(B) Respect for Character
(C) Respect of Life

(D) Respect for God

Religion provides a universal ideal, that

is able to justify ethics, is the view of
(A) Swami Vivekananda

(B) Sri Aurobindo

(C) Igbal

(D) Buddha

Swami Vivekananda's practical

Vedanta implies
(A) that the path of pravritti is the path
to self realization

(B) that through seifiess work, the mind
becomes pure and the person is
able to identify himself with all

(C) the path of nivritti is the ideal path

(D) sakama karma is superior to

nishkama karma

52. ‘df wdlel «tgl' (Thou shall not kill) of

SLE AU & ?
(A) allcizRloll MLER

(B) cailsicctoll AUER
(C) opastall BUER

(D) €4l WLER

53. alldsclal cesoll dact wdBs

Raldl 01 WA D, wl H Sl B ?
(A) el @asieie

(B) sl uz(de

(C) Bs6UA

(D) Ys

54. w1+l [QAsieiesil callaslRs Aetod

AR,

(A) ygRaol A B - AU SRA
Hl 8,

(B) (l:rciel s gl Mot Yg A B
ol AMH Bl A& H

dlelaal wajeidl ad 8.

(C) [Rgliausl A auesl uol B.

(D) Blesin 53 sacli ustusy Gy B,
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55.

56.

57.

In the philosophy of Sri Aurobindo,

integration means

(A) involution

(B) ascent through descent
(C) synthetic-a-priori

(D) dependent origination

In the philosophy of Sri Aurobindo,
which of the following is not an aspect

of supermind ?

(A) Consciousness-force
(B) Creator

(C) The real idea

(D) Egoistic ignorance

Intuition has the directness of sense
experience, is the view of which of the

following ?

(A) Mahatma Gandhi
(B) Igbal

(C) Immanuel Kant

(D) Ramanuja

5b.

56.

57.

wR(destl dectsttatHi Yol Aeq,

(A) [AReua
(B) uaRlsell wiRerl
(C) 2eQus vojecll0a

0) ydletxyeue

sl vRldeatl deatsitotl, ol Aattniell
g wAuetdel oudt atell ?

(A Rdabx

(B) U%s

(C) arc@s (Qauz

(D) &Hlotict wsllot
Bct:agReu A slduyRial

UsnAd B, Wl Hcd ol Aottuiell
SlAl B ?

(A) H&teHt oLl
(B) Bs6UA

(C) 81U Slo2

(D) Q0o

S —
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58. According to Tagore the qualities of
true religion are
(A) ritualism and dogmas
(B) other-worldliness
(C) spontaneity and naturality

(D) materialism

59. The true nature of man is spirituality
and it is divine, is the view of

(A) Igbal

(B) Charvaka

(C) Heraclitus

(D) Radhakrishnan

60. Gandhiji was aware, that it is not
possible to foliow the principle of
ahimsa as strictly as

(A} Jainism
(B) Buddhism
(C) Materialism

(D) Prescriptivism

61. Which of the following is true about
satyagraha ?
(A) it means to work for religion

(B) it intends to bring about a change
of heart in the wrong-doer

(C) it advocates that enemies should
be destroyed

(D) it is a method of coercion

58.

59.

60.

61.

2L00R Ul AU Uell dael
8.

(A) sysis val HALS

(B) wAlBsuy

(C) aleulAscl AR UslAsc

(D) cllldscue

HIQR1e] MO U sltulds B
Ul A (Bcat B, wl U Sloll & 7
(A) 8souct

(B) wels

(C) dalsaeu

(D) Aw(5rtat

ol Ru wEueu Rgiaa sss
A woll asq s otefl, 2 ciotdell
Aitlloy UL el
(A) *goteslot
(B) cllgedlot
(C) elldsale
(D) RAEaale
ol Asunisfl Ucue A 9
UY B 7
(A) Aol a8l ual W2 s 524, A B,
(B) Aol 3d Wig s0llRell &E0]
UReacdet s2cedl B.
(C) A gaMallell ollal scitell
Yyrsdl 8.

(D) A oWl us@ 8.
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62.

63.

Which of the following is not true
about Ambedkar’s views on the

caste system ?

(A) it is totally unscientific because it

has no scientific origin
(B) it is a negative thing
(C) itis an intelligent division of labour

(D) it restricts social and individual

efficiency

Frege never consider sense and

reference as
(A) Opposite
(B) ldentical
(C) Similar

(D) Negative

. In verification theory of meaning, the

term ‘verification’ means
(A) Derived deductively
(B) Sense-perception
(C) Reasoning

(B) Testimony

62.

63.

64.

ol Asttaiiell 53 wiclssetl adlellld
ol Ut WA U otell ?

(A) A wdsuls B, s2eL ¥ el sl
dstlls Gacl el

(B) d ANuUMSs clivid 8.
(€) Qul oflaydss] sulQeusyst V.

(D) QA cABAold WA WHBs &HHclla
WA, &,

53| sElURL el el clrgyUScllal
ARt otefl.

(A (el
(B) cleiazl

(C) wactiug

(D) RS

wd 2ot ustURl Rglanl usugl
Ued,

(A) [otuoicell azel

(B) 8lodal-ucist

©€) 8
(D) 2AGEYHIEL
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65. According to Positivists, which are the

two types of propositions ?
(A) Analytic and synthetic
(B) True and meaningful
(C) False and meaningless

(D} True and doubtful

66. Synthetic propositions are
(A) A-posteriori
(B) False
(C) A-priori
(D) Doubtful

67. According to Positivists, what is
phitosophy ?
{A) Theory
(B) Practice
(C) Activity

(D) Reasoning

68. Who gave common-sense realism ?
(A) Descartes
(B) Moore
(C) Frege

(D) Russell

65.

66.

67.

YA AELA AojAUR 52U & YSiRell
(Quell & ?

(A) R2Ans WA UsANS
(B) U ual uedyel

(C) wut W WSl
(D) ucel vt 9siRUE

HoAdus Quell _ dad.
(A) vlojoleUa

(B) wu

(C) Bojetcll0g

(D) sistrue

Yl €lallotl M cleclsliol 9 B ?

(A) Rgict

(B) calasl?
©) ygft

(D) b

UL ool cllRctelale 56 ARl ?

(A) 3512

(B) W
(C) %

(D) A
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70.

71.

72.

Which are incomplete symbols

according to Russell ?
(A) Names

(B) Description

(C) Analysis

(D) Object

Later Wittgenstein is promoter of

(A) Artificial language
(B) Common language
(C) Word expresses simple object

(D} Word have a-priori meaning

‘God Exists’ in this proposition, which
fallacy occur according to Ryle ?

(A) Category mistake

(B) Categorical fallacy

(C) Syntactical fallacy

(D) Semantical fallacy

What is Sartre’s contention ?

(A) Existence precedes essence
(B) Essence is final

(C) Essence precedes existence

(D) Existence is secondary

69.

70.

71.

72.

AL Vol Yyl udlst sau d 2

(A) ol
(8) cdlet
(€) [Qeamal
(D) [@Qua

Grrddl [Qedleetsa sl
UuEs B,

(A) 5B el
(B) AL GLML

(C) 2lve UEL [Ano] aglet 52 &
(D) sEa R20et wd &

ASE VAR ‘TU WRAAHIA B, -
L s EIN R & ?

(A) sl
(8) [Aawlts &y
(C) drusuctell iy

(D) oetelall el

UAs] Hu sdcllof Y B ?
(A) A A ARell udcl 8

(B) UR % di[Au B
(C) AR B URACAl Udcll B

(D) AURA A a0a ]
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73.

74.

75.

76.

Danda Niti is a part of
(A) Brahman dharma
(B) Jatakas

(C) Raja dharma

(D) Charaksamhita

Rajdharma seeks to

(A) Enforce law

(B) Enforce punishments

(C) To protect the people through
various means

(D) Do anything to continue in power

According to the Mahabharata
(A) King is superior

(B) Amatya is superior

(C) Dharma is superior to king

(D) King is quasi-god

Narada suggests to Yudhishthira, that

(A) aking should ensure his authority

(B) a king should ensure future kings

(C) a king should be strong

(D) a king should constantly be worried

about the well-being of his subjects

73.

74.

75.

76.

Eseflld W ol euol &,
(A) dleieLeny

(B) lcis

(C) =¥ uy

(D) uRs Aldal

Aol Yo 51 8,
(A) SI2LELSL GO, S¢cllo]

(B) Ul cllo) s:cllo]

(€) [ wusl g2t @Sl 281
sl

(D) Ucll estdal 58 URl 539

HELGUR . AagUIR,
(A) A ucllu 8

(B) vHlc Al &

(€C) ul A A% scll AU B
(D) A= FU-UHlet B

dlRe A YRAWBA YuA B 3,

(A) A%t Uldle] vBucl oalaq
Se5A,

(B) oA eldrueil Axtoll vitcdl 59l
Adl RNgA

(C) A% &M &lal AW

(D) AU Yol SCAULRL Hi2 Acld
RIQA ¥ KR
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77.

78.

79.

80.

How many pillars of statecraft does
Kautilya mention ?

(A) 7
(B) 6
(C) 5
D) 4

Which of the following is known as the
primary institution of society 7

(A) Marriage

(B) State

{C) Religion

(D) Family

In ancient India, the aim of education
was

(A) to evolve responsibie citizens
(B) to make man materialistic

(C) to teach the individual the value of
religious practices

(D) to teach the individuat the duties of
a house holder

The concept of total revolution
belongs to

(A) Jayprakash Narayan
(B) M. N. Roy

(C) Jyotiba Phule

(D) Tagore

77.

78.

79.

80.

SRt AU Yyt LRGN 2cl
aua B ?

(A) 7

(B) 6

(C) 5

(D) 4

o{lAotniell arueell wals e 58
U 8 ?

(A) Clost

B) A

(€) ud

(D) §gu

Yilot eudMl [Qlewte] LA g &q ?

(A) BAUUELR «R5 dauR sral
(B) HwwaA olldsalel settacl

(C) s QR calsiala yeu
ellwaq

(D) caulsasllal ojsrenstoll o8
9lluacll

ol sl o8 veue, 8.

(A) osa1yslal sl
(B) AH. Aet, A
(€) *Aldeu 5Q

(D) 2130R

O
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81.

82.

83.

Socialism believes, that

(A) inequalities in the economic order of
society are natural and necessary
(B) liberty and equality in political sphere
will be meaningless without the
economic reorganization of society
{C) without economic inequalities
progress of society is not possible
(D) liberty and equality are compatible
with inequalities of the capitalist

system

in Indian culture, which of the following
has been considered an essential
element of education ?

(A) the ability to reason logically

{B) the development of renunciation
(C) spirituality

{D) to cultivate worldly attachment

Liberal Philosophy is based on,

(A) Freedom of Individual
(B) Freedom of State
(C) Freedom of Society

(D) Freedom of Law

81.

82.

83.

UHIFALE WAUR,

(A) WUl BEls wUHLetdl el
wa wvilAaE B,

(B) Aot wfEls Wil wclsl
A% Sl Ao Hl HHlolcll AR
2l (285 B,

(C) WUES vAMLeAcAl AR AHLosall
Qs s a2l

(D) ysleuel cacaus(l UAHtdL WA
UHLolcdl Wol Wil w8 a3 B,

el drglani «(lAounmioll 52
(ewale] Hno Wy & 7

(A) lSs (Qareu saell e
(B) cuaght 3aadl

(C) drauey

(D) goudl olusl duiact

Gelralel w@aH
R B.
(A) calsaefl ettt
(B) RAxUsll 2l
(C) uHosell 2etcistcl

U

(D) slaelell elcdatell
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84. Who is the author of ‘The Subjection of

86.

87.

Women' ?
(A) Aristotle
(B) Kant

(C) Nietzsche
(D) Mill

. Radical feminism emerges as a

reaction to,
(A} Religion
(B) Science
(C) Society

(D) Liberal feminism

Rawls authored a text, which is,
(A) The second sex

(B) The theory of justice

(C) Principles of justice

(D) On society

Rawis gave the idea of
(A) Equal opportunity
(B) Equal status

{C) Equal freedom

(D) Equal goods

84.

86.

87.

“The Subjection of Women's{l 2Rl
sle e ?

(A) ARwed
(B) slo2
(€) (A
(D) Rt

. 552 oliflale A ol ylaBauzn

Ggcall B.
(A)

(B) (Asust
(C) A

(D) GelRalel sudlale

A Yrelsell ullc B,
(A) The second sex

(B) The theory of justice

(C) Principles of justice

(D) On society
A vl Qaur sl 8.

(A) UHlot c18s

(B) UMiol £

(C) UMHlet el

(D) Aot AL
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89.

90.

91.

Who do not believes in the ideals of
Welfare State ?

(A) Rawls

(B) Nozick

(C) Amartya Sen
(D} Marx

Nozick's theory is known as,
{A) Theory of ideal state

(B) Weifare theory of justice
(C) Entitiement theory of justice

(D) Theory of enlightenment

According to Marx, what is the special

characteristic of capital society ?
(A) Property

(B) Class

(C) Goods

(D) State

Which is Marxist basis of criticism of
capitalism ?

(A) Theory of freedom

(B) Theory of ideas

(C) Theory of equality

(D) Theory of surplus value

88.

91.

ol Astniell Blat scauel - AU
e atefl eflsielt ?

(A) AR
(B) s
(C) uH Aat
(D) Ms?l

ABsal Rgict _ dl3 meld d.
(A) el At Rsict

(B) c2uasl scaurisidl Reic

(C) caualsll &5elR Alcloll Rgic

(D) stcendfldoll Rgic

. SRl o ySlanel el [Qan

cla@sd s B ?

(A) v

(B) aol

(C) Aot

(D) A>Y

yslaugall aallensl Huseicudl vutu?
9 &7

(A) el Ralc

(B) [QuRAcdloll Raidt

(C) UHlotclloll Rgict

(D) wUAsycau Rgict
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92.

93.

Which is the theory of multiculturalism

that emphasize uniformity ?
(A) Salad bowl theory

(B) Melting pot theory

(C) Mosaic theory

{D) Plural theory

A deductive argument primarily deais

with the notion of
(A) Truth

(B) Falsity

(C) Validity

(D) Contradiction

. Which one of the followings is a

contradiction ?
(A) All students are intelligent
{B) No student is intelligent

(C) Some intelligent persons are
students

(D) Some intelligents are not-intelligent

92. ygaizgldaledtl s Raid Asgucl
WREHR Y387

(A) UALS - UBA Rgict
(B) AlEo - Ve Rgict

(C) s Rsict
(D) e Rgid

93. [lowHetcall ecllet

Asndg .

(A) U
(B) el

(C) IR

(D) -l

(A) 3ecus (Qeuslll ofgaua B
(B) A8 Qeuell ylgruet «tell
(C) ¥ecus off&miet (Qate{lA 8

(D) 32cus ol ofSaitet atelt

I

. oflAettriiel 53 (Quitet wi-canancl & 7



95. Name the fallacy the following
argument commits
All singers are musicians.

Some musicians are actors.

. Some actors are singers.

(A) Fallacy of illicit major |

(B) Fallacy of undistributed middie
(C) Fallacy of exclusive premises

(D) Fallacy of illicit minor

96. Determine the truth-value of this
proposition : ({(p>q) & (q>o p))
(A) Tautology
(B) Contradiction
(C) Contingent

(D) Negation

97. Which of the following is contrary of
(x) sx ?
(A) (x)~sx
(B) (3x) sx
(C) (3Ix)~sx
(D) (~x) (~sx)

95.

96.

97.

ol Aofl ecllenl s A5 B ?
AHLH oSt s B
s2cls A(csta AR B

o Seclls olasl Aollasidl &

(A) wrauldsHel ey
(B) weatind Htauell 1
(C) cuads auauR (Quetoll €1y

(D) veauldsHal a1y

oflAett [Quilots] UAAYEA otssl 53
(P>g) & (@>p)

(A) dcuds

(B) raicauauicl

(C) Rt

(D) Ay
(%) sx of viaUdA 53 B ?

(A) (x)~sx
(B) {(3x) sx
(C) (3x) ~ sx

(D) (~x) (~sx)



98. The branch of philosophy that would 98. cacsllRs Ll ¥y usldeu draw

el oA dclstiotoll 585 vl

study the conservation of nature as a
A B?

practical problem is
(A) AHIDS clectstiot

(B) collell {llQeuat

(C) te] clecistiot

(A) Social philosophy
(B) Medical ethics
(C) Pnhilosophy of religion

(D) Applied philosophy (D) clcslRs dectstiot

89. According to Peter Singer, cruelty 99. 22 RoR vajauR, ytelled ydell
towards animals is unethical because Rut uallds 8. siaL ¥,
(A) Animals are different from human (A) Hofwll s52cll ulelzll @= 8.
beings
(B) Animals can cry (B) wellAl 291 a3k 8.
(C) Animals are conscious (€) el Adeu A B,
(D) Animals can punish human beings (D) yllvl Heraiad us sdl ad B.
100. Professional codes of conduct are there | 100. callcul@ls suauRABw W2
o induce AcH] wudl 8,
(A) A sense of ethical responsibility (A} ollds scnoteldledl atciall
{B) To make people self reliant (B) clsla el otellalal
(C) To make people professional (C) Alslal caculRs oletlaall
(D) To emphasize the uniqueness of (D) caaell [ARwdl U eur Hsal

a profession
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